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1. 

A. 

x2 / 3 + x4 / 3 =

x2 / 3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_R0dbCtM4iS5R


B. 

C. 

D. 

Answer: D

Watch Video Solution

x8 / 9

x

x2 / 3(x2 / 3 + 1)

2. In three dimensions , what is the set of all points

for which x = 0 ?

A. the origin

B. a line parallel to the x-axis

https://dl.doubtnut.com/l/_R0dbCtM4iS5R
https://dl.doubtnut.com/l/_3QzdlUqvBjUF


C. the yz-plane

D. a plane containing the x-axis

Answer: C

Watch Video Solution

3. Expressed with positive exponents only ,

 is equivalent to

A. 

B. 

C. 

ab− 1

a − 1 − b− 1

a2

a − b

a2

a − 1

b − a

ab

https://dl.doubtnut.com/l/_3QzdlUqvBjUF
https://dl.doubtnut.com/l/_DH79UaxSiLlU


D. 

Answer: D

Watch Video Solution

a2

b − a

4. If f(x) =  and g(x) =  , find  (3) .

A. 3.3

B. 5

C. 11

D. 35

Answer: A

3√x x3 + 8 (f ∘ g)

https://dl.doubtnut.com/l/_DH79UaxSiLlU
https://dl.doubtnut.com/l/_nj1Wy16LAj5Y


Watch Video Solution

5. sin x for

A. all 

B. all 

C. all x for which 

D. all x

Answer: A

Watch Video Solution

x >

x > 0

x < 0

x ≠ 0

https://dl.doubtnut.com/l/_nj1Wy16LAj5Y
https://dl.doubtnut.com/l/_JGVJ9iS6mKlM


6. The sum of the zero of f(x)  is

A. 3.3

B. 1.8

C. 1.7

D. 0

Answer: D

Watch Video Solution

= 3x2 − 5

7. The intersection of a plane with a right circular

cylinder could be which of the following ? 

https://dl.doubtnut.com/l/_VgMTa6p491O4
https://dl.doubtnut.com/l/_UhIBpRmAIr5C


I. A circle 

II . Parallel lines 

III. Intersecting lines

A. I only

B. II only

C. III only

D. I and II only

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UhIBpRmAIr5C


8. Two dice are tossed . What is the probability that

the sum is 5 ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

11

1

9

1

6

1

4

https://dl.doubtnut.com/l/_HEnim0cUZARA


9. The graph of f(x) =  has a vertical

asymptote at x =

A. 0 only

B. 5 only

C. 10 only

D. 0 and 5 only

Answer: B

Watch Video Solution

10

x2 − 10x + 25

https://dl.doubtnut.com/l/_CvyFadEWkrfE


10. When P (x) =  is divided by x + 2 ,

the remainder is  . Then K =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x3 − 6x2 + Kx

−10

−30

−15

−6

−1

https://dl.doubtnut.com/l/_GKiL3Nmwu5Uq


11. Of the following lists of numbers , which has the

largest standard deviation ?

A. 2,7,15

B. 3,7,14

C. 5,7,12

D. 10,11,12

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MPlNgPvKA9RK


12. If f(x) is a linear function and f(2) = 1 and f(4) = -2 ,

then f(x) =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

− x + 4
3

2

x − 2
3

2

− x + 2
3

2

x − 4
3

2

https://dl.doubtnut.com/l/_8AAyv4Gn5G24


13. The length of the radius of a circle is one-half the

length of an arc of the circle . What is the radian

measure of the central angle that intercepts that arc

?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60∘

120∘

1R

2R

https://dl.doubtnut.com/l/_xeTlzIRj0AgI
https://dl.doubtnut.com/l/_9bo94XkWGiCP


14. If f(x) =  , then  =

A. 2.4

B. 2.6

C. 2.8

D. 3

Answer: B

Watch Video Solution

2x + 1 f − 1(7)

15. Find all values of x that satisfy the determinant

equation  = 3
∣
∣
∣

2x 1

x x

∣
∣
∣

https://dl.doubtnut.com/l/_9bo94XkWGiCP
https://dl.doubtnut.com/l/_oVmWnMbFK4qP


A. 

B.  or 1.5

C. 1.5

D. 

Answer: B

View Text Solution

−1

−1

−1.5

16. The 71st term of 30,27, 24, 21, .... , is

A. 5325

B. 240

https://dl.doubtnut.com/l/_oVmWnMbFK4qP
https://dl.doubtnut.com/l/_JuFcG9QNBwkT


C. 180

D. 

Answer: D

Watch Video Solution

−180

17. If  and tan 5x = 3 , to the nearest tenth

, what is the value of tan x ?

A. 

B. 

C. 

0 < x <
π

2

0.5

0.4

0.3

https://dl.doubtnut.com/l/_JuFcG9QNBwkT
https://dl.doubtnut.com/l/_esl1EHi3cWYp


D. 

Answer: C

Watch Video Solution

0.2

18. If  , what is the value of  ?

A. 

B. 

C. 1.19

D. 

Answer: C

4.05p = 5.25q p

q

−0.11

0.11

1.30

https://dl.doubtnut.com/l/_esl1EHi3cWYp
https://dl.doubtnut.com/l/_fSXS1F5tdlhl


View Text Solution

19. A cylinder has a base radius of 2 and a height of 9

. To the nearest whole number , by how much does

the lateral area exceed the sum of the areas of the

two bases ?

A. 101

B. 96

C. 88

D. 81

Answer: C

https://dl.doubtnut.com/l/_fSXS1F5tdlhl
https://dl.doubtnut.com/l/_CNSbtJNkHqE3


Watch Video Solution

20. If cos  , then x =

A. 

B. 

C. 

D. 21

Answer: D

Watch Video Solution

67∘ = tan x ∘

0.4

6.8

7.8

https://dl.doubtnut.com/l/_CNSbtJNkHqE3
https://dl.doubtnut.com/l/_KpXbkU9AZkXL


21. P(x) =  has a zero in the interval

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x3 + 18x − 30

(0, 0.5)

(0.5, 1)

(1, 1.5)

(1.5, 2)

22. The lengths of the sides of a triangle are 23, 32 ,

and 37 . To the nearest degree , what is the value of

https://dl.doubtnut.com/l/_cmDTIDuNOKlx
https://dl.doubtnut.com/l/_KZZwTS6U5keq


the largest angle ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

71∘

83∘

122∘

128∘

23. If f(x) =  and g(x) =  , find the

domain of .

3

x − 2
√x + 1

f ∘ g

https://dl.doubtnut.com/l/_KZZwTS6U5keq
https://dl.doubtnut.com/l/_KeeNz8Fm7BMo


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x ≥ − 1

x ≠ 2

x ≥ − 1, x ≠ 2

x ≥ − 1, x ≠ 3

24. The overall average grade of a math course is

based on homework (10 %) , quizzes (40 %) , and

tests (50 %) . Ted has a 90 average for howework , 81

https://dl.doubtnut.com/l/_KeeNz8Fm7BMo
https://dl.doubtnut.com/l/_qdM9M3lEWVqW


for quizzes , and 85 for tests . What is his overall

average ?

A. 83

B. 84

C. 85

D. 86

Answer: B

Watch Video Solution

25. If  , then √y = 3.216 √10y =

https://dl.doubtnut.com/l/_qdM9M3lEWVqW
https://dl.doubtnut.com/l/_1M1r41TYX3Hy


A. 321.6

B. 32.16

C. 10.17

D. 5.67

Answer: C

Watch Video Solution

26. What is the domain of the function 

f(x) log  ?

A. 

√2x2 − 15

−7.5 < x < 7.5

https://dl.doubtnut.com/l/_1M1r41TYX3Hy
https://dl.doubtnut.com/l/_Euo6azaWBuEo


B. 

C. 

D. 

Answer: C

Watch Video Solution

x < − 7.5 or x > 7.5

x < − 2.7 or x > 2.7

x < − 3.2 or x > 3.2

27. A magazine has 1,200,000 subscribers , of whom

400,000 are women and 800,000 are men . Twenty

percent of the women and 60 percent of the men

read the advertisements in the magazine . What is

https://dl.doubtnut.com/l/_Euo6azaWBuEo
https://dl.doubtnut.com/l/_kfkWSX4efZ70


the probability that a randomly selected subscriber

reads the advertisements ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.30

0.36

0.40

0.47

28. Let S be the sum of the first n terms of the

arithmetic sequence 3, 7, 11, ...., and let T be the sum

https://dl.doubtnut.com/l/_kfkWSX4efZ70
https://dl.doubtnut.com/l/_MnKQxDw8T4CR


of the first n terms of the arithmetic sequence 8 , 10 ,

12 ,.... For n  1 , S = T for

A. no value of n

B. one value of n

C. two values of n

D. three values of n

Answer: B

Watch Video Solution

>

29. On the interval  , the function 


 has a maximum value of

[ − , ]
π

4

π

4

f(x) = √1 + sin2 x

https://dl.doubtnut.com/l/_MnKQxDw8T4CR
https://dl.doubtnut.com/l/_bGJEqApSG3EN


A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

0.78

1.1

1.2

30. A point has rectangular coordinates (3,4) . The

polar coordinates are  . What is the value of  ?

A. 

(5, θ) θ

30∘

https://dl.doubtnut.com/l/_bGJEqApSG3EN
https://dl.doubtnut.com/l/_euSkOZYtQW0W


B. 

C. 

D. 

Answer: D

Watch Video Solution

37∘

51∘

53∘

31. If f(x) =  , for what real number values of x

will f(f(x))= 0 ?

A. 2.4

B. 

x2 − 4

±2.4

https://dl.doubtnut.com/l/_euSkOZYtQW0W
https://dl.doubtnut.com/l/_ZHDGYsSSjfy7


C. 2 or 6

D. 

Answer: D

Watch Video Solution

±1.4 or ± 2.4

32. If f(x) = x log x and g(x) =  , then g(f(2)) =

A. 24

B. 17

C. 4

D. 2

10x

https://dl.doubtnut.com/l/_ZHDGYsSSjfy7
https://dl.doubtnut.com/l/_KLeAysUTOdqX


Answer: C

Watch Video Solution

33. If f(x) =  , then = 

A. 

B. 

x√x f(√2)

1.4

1.5

https://dl.doubtnut.com/l/_KLeAysUTOdqX
https://dl.doubtnut.com/l/_KaWcTAsOuUOi


C. 

D. 

Answer: B

Watch Video Solution

1.6

2.0

34. The figure above shows the graph of  . What is

the sum of the areas of the rectangle ?

A. 32550

B. 16225

C. 2604

5x

https://dl.doubtnut.com/l/_KaWcTAsOuUOi
https://dl.doubtnut.com/l/_iJMa6n3wUbEL


D. 651

Answer: D

Watch Video Solution

35. (p,q) is called a lattice point if p and q are both

integers . How many lattice points lie in the area

strictly between the two curves  and 

 ?

A. 0

B. 1

C. 2

x2 + y2 = 9

x2 + y2 − 6x + 5 = 0

https://dl.doubtnut.com/l/_iJMa6n3wUbEL
https://dl.doubtnut.com/l/_txjXbTUw37hi


D. 3

Answer: D

View Text Solution

36. If  and  , then y =

A. 

B. 

C. 

D. 

Answer: D

9x = √3 2x + y = 32

1

2

3

4

5

2

19

4

https://dl.doubtnut.com/l/_txjXbTUw37hi
https://dl.doubtnut.com/l/_BI2AXAFbI8dc


Watch Video Solution

37. For all real numbers x , f(2x) = . An

expression for f(x) in terms of x is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − x + 3

2x2 − 2x + 3

4x2 − 2x + 3

− + 3
x2

4
x

2

− + 3
x2

2
x

2

https://dl.doubtnut.com/l/_BI2AXAFbI8dc
https://dl.doubtnut.com/l/_u1BZtYSHBGbd
https://dl.doubtnut.com/l/_wPLXRkUSn3FG


38. For what value (s) of k is  divisible by

x - k ?

A. only 0

B. only 0 or 

C. only 1

D. any value of k

Answer: A

Watch Video Solution

x2 − kx + k

−
1

2

https://dl.doubtnut.com/l/_wPLXRkUSn3FG


39. If the graphs of  and 

intersect on the x-axis , then k =

A. 0

B. 6

C. 

D. any real number

Answer: D

Watch Video Solution

x2 = 4(y + 9) x + ky = 6

−6

https://dl.doubtnut.com/l/_OUJz1xGWyitF


40. The length of the major axis of the ellipse 

 is

A. 3

B. 4

C. 6

D. 10

Answer: D

Watch Video Solution

+ = 1
(x − 3)

2

16

(y + 2)
2

25

https://dl.doubtnut.com/l/_6igMval0xd4t


41. If

and  , then 

A. 1

B. 2

C. 4

D. 8

Answer: D

Watch Video Solution

fn = {
 when fn − 1is an even number

3 ⋅ fn − 1 + 1  when fn − 1  is an odd number 

fn − 1

2

f1 = 3 f5 =

https://dl.doubtnut.com/l/_eztlnP1I48Kj


42. How many different rearrangements of the

letters in the word CONTEST start with the two

vowels ?

A. 120

B. 60

C. 10

D. 5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cvwxRSIg8jUD


43. Which of the following translations of the graph

of  would result in the graph of 

 , where k is a constant greater

than 10 ?

A. left 6 units and up k units

B. left 3 units and up k + 9 units

C. right 3 units and up k + 9 units

D. right 3 units and up  units

Answer: D

Watch Video Solution

y = x2

y = x2 − 6x + k

k − 9

https://dl.doubtnut.com/l/_UalRzNhyKoES
https://dl.doubtnut.com/l/_AKnMiJe80Z68


44. How many positive integers are there in the

solution set of  ?

A. 0

B. 2

C. 4

D. 5

Answer: A

Watch Video Solution

> 5
x

x − 2

https://dl.doubtnut.com/l/_AKnMiJe80Z68


45. During the year 1995 the price of ABC Company

stock increased by 125% and during the year 1996 the

price of stock increased by 80% . Over the period

from January 1 , 1995 , through December 31 , 1996 by

what percentage did the price of ABC Company stock

rise ?

A. 103

B. 205

C. 305

D. 405

Answer: C

https://dl.doubtnut.com/l/_5MeGTNVQa1ix


Watch Video Solution

46. If  and  , then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x0 = 3 xn + 1 = xn√xn + 1 x3 =

15.9

31.7

44.9

65.2

https://dl.doubtnut.com/l/_5MeGTNVQa1ix
https://dl.doubtnut.com/l/_cIDkf2ZXmYvr


47. When the smaller root of the equation

 is subtracted from the larger root

, the result is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x2 + 4x − 1 = 0

−1.3

0.7

1.3

1.8

https://dl.doubtnut.com/l/_Cbyh6xlPgSyW


48. A committee of 4 is to be selected from a group

of 7 women and 4 men . How many different

committees of 2 men and 2 women can be formed ?

A. 22

B. 24

C. 126

D. 128

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_T9bNGTt59jk8


49. If x , y ,and z are positive , with xy = 24 , xz = 48 ,

and yz = 72 , then x + y + z =

A. 22

B. 36

C. 50

D. 62

Answer: A

Watch Video Solution

50. In radians ,  =sin− 1(cos 100∘ )

https://dl.doubtnut.com/l/_VnKCghkjJCYB
https://dl.doubtnut.com/l/_lnwu7i4DoOY4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−1.4

−0.2

0.2

1.0

https://dl.doubtnut.com/l/_lnwu7i4DoOY4

